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Cluster: 0103 ptr; resid: 0.38; r/c: 24/69

x.range

upstream meme PSSM #1; e=3.8

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra
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upstream meme PSSM #2; e=5.6e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11
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14192

25956

11356

11409

1281312972

13073

17184

292

31469 31846

33842

37105

37368

38283

432

44147

46621
48145

49417

49957

54310

8670

9409

string −500 −400 −300 −200 −100 −1
12813−0.01
31469−0.06
46621−0.06
33842−0.11
49957−0.22

9409−0.43
37368−0.53
13073−0.88
37105−1.01
44147−1.12
14192−1.32
31846−1.52
25956−1.74
38283−1.84
11409−2.23

292−2.44
12972−2.60
48145−2.85

432−4.97
49417−5.04
17184−6.71

8670−7.94
11356−11.46
54310−11.46

log10(P) upstream meme1 2 log10(P.clust)=−2.86; 24 seqs; 24 uniq
c(0.5, 2.5)
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